
F
itt

in
g 

in
st

ru
ct

io
ns

M
ak

e 
:

T
yp

e 
: P

er
m

an
en

tly

lin
ke

d 
to

qu
al

ity

S
aa

b 
90

0

H
B

; 
‘9

3 
->

 /
 C

ou
pé

; 
‘9

4 
->

/ 
9-

3;
 1

99
8-

>

Ty
pe

: 
22

44



Tested in accordance with ISO 3853 224470/16-08-2001/1

2244

(7x) M10x30

(1x) M8x30

(2x) M10x40

(1x) M8 self-
locking

(10x) M10

(9x) M10

(1x) M8

(2x) 40x6 L=40

(2x) 40x5 L=402244

224470/16-08-2001/18



FIG.29

224470/16-08-2001/17

17

224470/16-08-2001/2



e11 00-3602

75 kg 1600 kg 8.8

8

224470/16-08-2001/3

D=8,5 kN

17

17

(6x) 46 Nm

FIG.27 13

13

(1x) 23 Nm

FIG.28

(1x) M8x30

(1x) M8 self-
locking

(1x) M8

224470/16-08-2001/16



FIG.24

(2x)
40x5 L=40

FIG.25

(2x) M10x40

(2x)
40x6 L=40

(2x) M10

2x  

FIG.26

224470/16-08-2001/15

10
00

 k
m

kg

kg?
dealer

Nm

224470/16-08-2001/4



224470/16-08-2001/5

17

FIG.21

4x  

(4x) M10

FIG.22

FIG.23

ø11

224470/16-08-2001/14



1995 ->

FIG.19

FIG.19A
-> 1995

17

FIG.20

224470/16-08-2001/13

13

FIG.1

FIG.2

FIG.3

224470/16-08-2001/6



FIG.4 FIG.4A

FIG.5

224470/16-08-2001/7

17

46 NmFIG.16

46 Nm

FIG.17

(4x) 
M10x30

FIG.18a

FIG.18

224470/16-08-2001/12



FIG.13

FIG.14

ø17mm

224470/16-08-2001/11

(3x) 
M10x30

3x  

FIG.15

17

FIG.6

FIG.7

17

1995 ->

FIG.8

224470/16-08-2001/8



FIG.8A

FIG.9

FIG.10

-> 1995

224470/16-08-2001/9

FIG.11

30
120

60
60

FIG.12

224470/16-08-2001/10

9-3 Serie900 Serie
+ Coupé


